BADM 501 – Emerson





1st Pop Test …. Chpts 5 & 6
Name:  _____________________________________
1. Distinguish a revocable trust from a irrevocable trust.  What is the primary difference?  What are the different estate tax consequences




2. What are the three requirements of a gift?

The Grantor must be ______________________________________________

The delivery of the gift must be ______________________________________

The Donee must do what?  __________________________________________

3. How does “consideration” factor in to whether the transfer of property is a gift or not?
_____________________________________________________________________________

 _____________________________________________________________________________

4. A Trustee holds legal (equitable) title to another’s property.  This entitles the trustee to possess and enjoy the property.
True


False

5. As a general rule, once a trust is established, there is no fiduciary role between the grantor and the beneficiaries.

True


False

6. For education tuition payments to be exempt from gift tax, the donor must be related to the party who benefits from the tuition payment.
True


False

7. Transfers of property incident to a divorce can trigger gift tax consequences.
True


False

8. A Grantor sets us a $10MM trust for the benefit of his five Grandchildren.  What are the estate tax consequences to the Grantor if he names himself as Trustee?
9. A trust is a “pass through” entity ….. therefore, the tax liability falls on the beneficiary.

True


False

10. Jim and Ellen Blanchard are married.  They have three children in their late 20’s and early 30’s.  They own a house as Joint Tenants with Right of Survivorship.  The house has a $1MM FMV.  Mrs. Blanchard has a $500,000 of assets in her own name.  Mr. Blanchard has $4MM of assets in his own name.  Mr. Blanchard has promised Winthrop University $1MM to be used to renovate the baseball stadium. 

Flowchart below your recommended estate plan for Mr. Blanchard given the facts listed above.   




[image: image1.emf]Extra Credit  

(one point each)

Category:  Geography

In what states are the following colleges located?

Harvard

Stanford

Yale

Brown

Notre Dame


Jim Blanchard


House ($1MM)


Investments ($4MM)
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																												ACCT 401  --  Emerson

																						name						Pop Test # 2

				1.				Alice's husband passed away in 2005.  She has not remarried.  Her sister has a physical handicap and Alice qualifies to

								claim her as a dependent on her 2006 tax return.  What is Alice's filing status in 2006?

				2.				Denise supports her stepchild, Helen.  Helen, a full time student, is 22 years old and lives with Denise+D39.

								She earns $6,400 from a summer job.  Based on the information given, does Helen qualify as a dependent in 2005?

				3.				John is claimed as depedent on his parent's tax return.  He earns $4,000 in wages in his summer job.  In addition, he earns

								$6,000 in interest from an account investment account his grandparents set up for him.  What is his taxable income?

				4.				John is claimed as depedent on his parent's tax return.  He earns $4,000 in wages in his summer job.  In addition, he earns

								$6,000 in interest from an account investment account his grandparents set up for him.  How much of his income is taxed at

								his parents tax rate under the "Kiddie Tax" provisions?

										Iris is an unmarried taxpayer.

												Salary														52,000

												Interest Income on State of SC Bonds														1,200

												Interest Income on Wachovia CD														3,000

												Child Support Received														6,000

												Alimony Received														4,000

												Capital Loss on sale of shares of stock														-9,000

												Inheritance from Father														142,000

												Life Insurance (her father's policy w/ Iris named as beneficiary)														100,000

												Itemized Deductions														8,600

												Number of Dependents (children ages 10 and 12)														2

												Iris's Age														34

				5.								Iris's Filing Status  ……………………………………..

				6.								Iris's Adjusted Gross Income (AGI)  …………………….

				7.								Iris's Taxable Income  ……………………………………..

										(show your work in the space provided on the following page)

				8				Sam and Bonnie are married with one small child.  Their AGI is $50,000.  Their itemized deductions are minimal.

								What is their tax?

								What is the taxable capital gain or loss on the following transactions?  Is it short term or long term?

										Long Term Capital Gain						20,000

										Long Term Capital Loss						8,000

										Short Term Capital Gain						1,000

										Short Term Capital Loss						31,000

				9						$						(current year)						ST  or  LT

				10						$						(capital loss carryover)						ST  or  LT

										Extra Credit  (one point each)								Category:  Geography

										In what states are the following colleges located?

												Harvard

												Stanford

												Yale

												Brown

												Notre Dame
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